NOKIA L /29 Y%

Nokia AHPMDRB
Installation Standaro
Overview

» Guiller Papa
« 3/3/2021




OUTLINE

2

© 2020 Nokia

|.  Technical Data

l. Interfaces

lIl. Dimensions & Weight

IV. Tools

V. Contents of Delivery

VI. Lifting of Airscale Radio
VIl.Pole mounting
VIll.Connecting Ground Cable
IX. Connecting DC Power Cable
X. Connecting RF Jumper Cable
XI. Connecting RET Cable
Xll.Securing Cables

XII.Typical Site Configuration

NOKIA L/29 %



AirScale Tri RRH 2T4R B8/20/28 240W

AHPMDB
AirScale Tri RRH
2T4RB8/20/28240W

gonfid@tieo Nokia

Supported Frequency bands

3GPP bands 8,20 and 28

Frequencies

Band 8: RX 880 MHz - 915 MHz, TX 925 MHz - 960 MHz
Band 20: RX 832 MHz - 862 MHz, TX 791 MHz - 821 MHz
Band 28: RX 703 MHz - 733 MHz, TX 758 MHz - 788 MHz

Number of TX/RX paths/pipes

2x2T4R. B8/B20 onantenna 1/3,B28 on antenna 2/4

Instantaneous Bandwidth IBW

Full IBW for all bands

Occupied Bandwidth OBW

Full OBW for all bands

Out put Power

Total 240W

RATs Supported

700 (band 28): LTE
800 (band 20): LTE
900 (band 8): LTE, WCDMA, GSM (CS 7)

Dim e nsions (mm)

560 mm x308 mm x 168.5 mm

Volume (M3)

271 (without cover)

Weight(kg)

31Kg

Supply Voltage/ Voltage Range

DC-48V/-57to-40.5

Ty pical Power Consumption

Busy hour 4x60W: 678W

Busy hour 4x30W: 532W

A ntenna Ports

2 TX/4RX B8/B20 + 2 TX/4RXB28 Connector = 4.3-10+

Optical Ports

2x OBSAI RP3-01 or 9.8 Gbps CPRI

A LD Control Interfaces

AISG 3.0 and RS-485

Other Interfaces

MDR26 supports 4 external alarms

Operational Temperature Range

-40to+55C

Ingress protection class | IP65

Installation options

Pole, Wall,, Bookmount

Surge protection

Class Il 5kA

NOKIA L/29 %



Interfaces

Interface Label on the HW Number of Connector type | Additional info
interfaces

Power Connector |DC IN 1 High power Supports
circular grounding for
shielded cables;
APPB, APPC

Antenna ANT 4 4310+ AISG on each
connector antenna
connector

Has features that
prevent damage
when mating with
ad41-95
connector is
attempted

Remote Electncal | RET 1 8-pin circular RS-485
Tilt

Extemal Alarm EAC 1 MDR26 4 alarm inputs
Connection and 1 control
output

T1 Optical interface | OPT 2 SFP+ 9.8 Gbps, CPRI;

Nokia IP seal

B8/B20 B28 B8/B20 B28 Ground N 1 M8 or 2xM5 -

SCTews

Fan FAN 1 Mokia fan Located on the
heat sink side

4 ©2018Nokia NOKIA /2§ ¥

Nokia internal use



Dimensions & Weight

Property

Value

Dimensions orientation

Height

Core RRH: 512 mm (20.15in.)

With mounting bracket: 652
mm (25.66 in.)

Width

Core RRH: 308 mm (12.13in.)

With side mounting bosses:
327 mm (12.87 in.)

Depth

Core RRH: 169 mm (6.65 in.)

With mounting bracket: 185
mm (7.28 in.)

Weight

31 kg (68.3 Ib)

5 © 2018 Nokia

Nokia internal use

NOKIA L/29 %



Dimensions

64 mm
185 mm

327 mm

185 mm

NOKIA L2 9%

6 © 2018 Nokia
Nokia internal use



Tools N
)
x \\Q
, 9N
% ‘3‘7( = @

= (Sagee
F G | J K
Tool Type/Description Tool Type/Description
A Torque screwdriver capable of 0.5-4.3 Nm (4.4- F TORX bit T15, T20, T25, T45
38.1 in-lb) G Socket wrench 13 mm
B ¥ in. dri dapt ble of 4.3-30 Nm (3.2-22.1
®in. square drive (or adapter) Fﬂg? €0 m ( H Thread-locking compound Non-permanent, medium
strength - for example, Loctite
Cc % in. square drive (or adapter) socket 150 mm (6 in.), 300 mm (12 243
extension set in.)
| Hammer -
D Open end crowfoot wrench 8 mm, 13 mm, 17 mm, 21 mm - -
(modules with R2CT optical J Drill and wall mounting hardware -
plug only), 22 mm, 30 mm, 35 K Saw for cutting steel bolts -
mm
E Hex key (Allen) 6 mm, 8 mm
7 ©2018Nokia NOKIA /2§ Y

Nokia internal use



Tools

8

© 2018 Nokia

o Q
T \'}
Tool Type/Description

Side cutters

Scissors

Insulation tape

Tape measure

Cleaning tools for optical cables

Level

M12 eye bolts (for AMPA)

Lifting bag/bucket

Soft jaw needle nose pliers

Soft jaw channel lock

Flat-head screwdriver

s|I<]|c|d]0|3]O]T0|O0|Z2|=2|"™

Philips screwdriver

nNUNailinciiial usc

NOKIA L/29 %



Contents of AHPMDB Delivery
77

2 x M5x12 screw

i

1 x M8x16 screw

1 x strain relief

5 x cable tie

il

2 x M8x20 screw

1 x small crow’s
foot wrench 22
mm (7/8 in.), 3/8”"
square drive

1 x AHPMDB core
module

9 © 2018 Nokia

Delivery Code Content
AHPMDB AirScale Tri RRH 475000A 1 x AHPMDB core module
2T4R B8/20/28 240 W
Site bag 089470A 1 x small crow's foot wrench 22

mm (7/8 in.), 3/8” square drive

1 x strain relief

2 x M5x12 grounding screw

1 x M8x16 grounding screw

5 x cable tie

2 x M8x20 13 mm socket
screw

Nokia internal use

NOKIA /2§ %




Unpacking Nokia AirScale RRH delivery

Before you start

Unpack and carefully check the delivery before the installation to make sure that all the
required items are available and undamaged.

0 NOTICE: Installing and commissioning of BTS products must be performed by an
expert familiar with electronic devices to avoid damage caused by improper handling.

o NOTICE: Do not remove the caps protecting the ports, delivered with the RRH until the
module is grounded and the cables are connected. After grounding and cabling, all of
the RRH unused ports should have plastic caps on. The caps serve as a protection for
the module against Electrostatic Discharge (ESD).

Procedure

1 Carefully check the contents of the delivery.

2 Remove the items from the package.

3 Check that the delivery is complete and undamaged.

4 Recycle the packaging material.

5 Proceed to the module installation procedure.

10 © 2018 Nokia
Nokia internal use

NOKIA L/29 %



Lifting of AirScale Radios

A WARNING! Risk of injury!

Only one module can be
ifted at a time. Use the
designated lifting point

and control 1- lifting point

2- control rope

rope. Units which weigh
more than 25 kg (55.1
Ibs) require two
installers.

11 © 2018 Nokia g NOKIA L/29 %

Nokia internal use



Pole Mounting

12

S

© 2018 Nokia

e
4 x M8, 13 mm

20 Nm

o]

o[]

6 x M8 13 mm

S

); 2 xM8,13 mm

FPKA x 2

l“lln ),

o "
|'| SR ==
5 et

o __ﬁ

NOKIA L/29 %

Nokia internal use



Connecting Ground cables

NOKIA k29 ¥

© 2018 Nokia

13

Nokia internal use



Connecting DC cables

Connect the wires to the screw terminal and tightento 2.2 Nm (19.47 in.-Ib).

14 ©2018Nokia NOKIA .Li’hﬂ L4

Nokia internal use



Connecting RF Jumper cables

1
\
§ |
|
& a
'y

R

1 x small crow's

foot wrench 22
Tighten the antenna cables to torque 5 Nm (44 in-lb). e ol v
15 ©2018Nokia NOKIA b /2§ %

Nokia internal use



Connecting RET cables

a) Remove the dust cap from the
RET connector.

b) Align the connector pins and
push the RET cable into the m
odule RET connector

c) Turnthe cable connector clock
wise by hand to tighten the co
nnector.

NOKIA k29 ¥

16 © 2018 Nokia
Nokia internal use



| B T
8
§SH)]

————

Connecting CPRI/OPTICAL cables

1. Removing the dust cap

17 © 2018 Nokia

2. Installing the optical transceiver

Nokia internal use

3. Pushing the optical connector

NOKIA k29 ¥



Securing Cables

21, 2020'3:16:55 PMIGIUEEIER
8°4'5.949IN 122° 8.5

\ | ‘ 1=
\ A \ K : b
/ Remark: MINVBENFABASO|
Ve :-65—\1‘ - i
Tiaask Do — T ﬂ
J 1] 3 - 1 i

18 © 2018 Nokia NDK'AL,’%Q k

Nokia internal use



Typical Site Configuration

19

© 2018 Nokia

RET CABLE

NOKIA RRH
700/500/900
(AHPMDB|

DCCABLE

Nokia internal use

NOKIA £ /29 %



NOKIA L /29 %



Copyright and confidentiality

The contents of this document are proprietary and
confidential property of Nokia. This document is
provided subject to confidentiality obligations of the
applicable agreement(s).

This document is intended for use of Nokia’s
customers and collaborators only for the purpose
for which this document is submitted by Nokia. No
part of this document may be reproduced or made
available to the public or to any third party in any
form or means without the prior written permission
of Nokia. This document isto be used by properly
trained professional personnel. Any use of the
contents in this document islimited strictly to the
use(s) specifically created inthe applicable
agreement(s) under which the document is
submitted. The user of this document may
voluntarily provide suggestions, comments or other
feedback to Nokia in respect of the contents of this
document ("Feedback").

21 © 2018 Nokia

Such Feedback may be used inNokia products and
related specifications or other documentation.
Accordingly, if the user of this document gives Nokia
Feedback on the contents of this document, Nokia
may freely use, disclose, reproduce, license,
distribute and otherwise commercialize the
feedback in any Nokia product, technology, service,
specification or other documentation.

Nokia operates a policy of ongoing development.
Nokia reserves the right to make changes and
improvements to any of the products and/or
services described in this document or withdraw this
document at any time without prior notice.

The contents of this document are provided "asis".
Except as required by applicable law, no warranties
of any kind, either express or implied, including, but
not limited to, the implied warranties of

merchantability and fitness for a particular purpose,

Nokia internal use

are made inrelation to the accuracy, reliability or
contents of this document. NOKIA SHALL NOT BE
RESPONSIBLE IN ANY EVENT FOR ERRORS IN THIS
DOCUMENT or for any loss of data or income or any
special, incidental, consequential, indirect or direct
damages howsoever caused, that might arise from
the use of this document or any contents of this
document.

This document and the product(s) it describes
are protected by copyright according to the
applicable laws.

Nokia is a registered trademark of Nokia
Corporation. Other product and company names
mentioned herein may be trademarks or trade
names of their respective owners.

NOKIA L/29 %



